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#HeritunIlnaudiAdue (Trigonometric Identities)
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Learning outcomes.. Find the trigonometric functions of angles or the Real number

and write graphs of trigonometric functions.
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Intended destination Find the value of Algebra of trigconometric functions of real

number.
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flardunslnafifdugdnsusuiuesa0 lag Trigonometric functions of real number.
1. Harunsinadasug
Herduunuiaus tangent®  Weuunu fle tan O 81w unuiia
Hetduduaud  secant O (Beuunu de sec O 81w wadien
Herduladuausd cosecant O W Weuunu de cosec O wseo csc® 81w Talwniian
Herdulauwnuiay dcotangent O Weuunu fe cot O wse ctn O 81w Aendian

2. unile dusuiuauese0 Tag

tanO = sin Lﬁa cosO # 0
cos @

sec O = ! Lﬁa cosO # 0
cos @

cosec O = L Lfia sin@ # 0
sin 0

t0 = C(_)s 0 Lfia sinO#0 usa coth = ! ija tan O £ 0
sin @ tan @

3. ANMUFUNUSTENINIHINTUASINUTIRA
2 2
sin O +cos" O =1
2 2
sec 9 - tan 9 =1

csc29 - cot29 =1




Example 1 Fill the number in the blank.

WU | sin@ | cosO | tan® | cscO secO cotO NUGLAE)
13(0)

c0s(-0) = cosO

sin(-0) = - sinO

tan(-0) = -tanO
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Example 2 Find the cos g - sin ?n + tan 94_7: - cos—Tc +tan T
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Solution cos g - sin 2% + tan 9_n - cos—TE +tan 7—“
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. 5n Vs 3t . 4n
1) sin=—+tan— - cos=—.sin—
6 6 4 3

2)sin3 3n +tanTlcos = -cot S -sin in
2 2 6 6

/4 T T . 7T . 5n 5n
3)sin = cos — 4+C0s — sin — +sin —-tan —
3 6 3 6 3 3

2T .2 .2r 2 11xn
4)cos Z+Slh — + sin — 4+ Cos ?
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1 A | sinO | cosO | tanO | cscO secO cot0 NUGLAG)
13(0)
0 0 1 0 1 -
% 1 0 - 1 - 0 cos(-0) = cosO
z Q ﬁ 1 V2 J2 1 sin(-0) = - sin®
4 2 2
?:1_" V2 | V2 -1 J2 -2 -1 tan(-0) = -tan0
2 2
m || 1|6 2B | 2 | &
2 2 3 3
L I
2 2
o B2 2 | B
2 2 3 3
Bt V2 N2 ] 2 | 2 1
2 2
5m N2 | 2| 1| N2 | 2 1
2 2

Y A ! T . bx
IDYNN 2 WHIANUBDY COoS E -sin — + tan

6+ 43 36
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” 23 -1
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5n
— -COS— +tan —
4 6

n _3+4\/§
3







